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The Bennets are 59/58 & retring aged 62/61. They’re 
targeting 91/94 for longevity & have a 50/50 Asset Mix.

The Jensons are 59/58 & retiring aged 62/61. They’re 
targeting 91/94 for longevity & have an Income Alpha mix.

$42K
SAME

SOCIAL
SECURITY

$1.5M
SAME
ASSET 
VALUE 1

$79K
SAME

INCOME 
NEED

$79,000
ANNUAL INCOME

$0
PRESERVED ASSETS

A diversified 50/50 portfolio gives the Bennets a 90% 
chance of spending $79,0002 but $0 to their heirs.

Income Alpha gives the Jensons a 90% chance of spending 
$79,0002 and can gift $548K to thwir heirs.3
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